G7a... Angles - Parallel Lines
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In the diagram, CDE is parallel to FG.

ADG and BDF are straight lines.
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(b) Work out angle y.

6k & 32~ \Q6
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XY and BD are parallel lines.
Xis a point on AB and C is a point on BD.
XB = XC.
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(a) Complete this sentence.

Angle XBC = 65° because . CO\‘IGA_\)O uP 013(08

(b) Work out angle BXC.
Give a reason for each angle you work out.
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7 Inthe diagram, AB is parallel to DC. Crentiexdiy Wikteil
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Work out angle BDC. »
Give a reasop for each angle you work out. \30 —\'56 =5 Ltl.l-ﬁ

’ Anﬁ\n ARD = Wy ‘mcowe avey\as " o “'hog_g, = \pO°

Ande BOC= UL® becarse allercde avles L?[: egual .
....................................................... ° 4]

EF and FB are straight lines.
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7 AB and CD are parallel lines. Z [
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Complete the following statements.

x =55° because o&\\&!‘w&& ..... O\f\ﬁkﬁé ....... w ........................
y=70° because COTT&SQOI\E\VBO%\OAW[Z]



9 The diagram shows triangle ABC.
CD is parallel to AB.
A, C and E lie in a straight line.

G7 Angles of size a°, b* and ¢” are shown. @- A 'ﬁkﬂ‘ ABC = B C.D
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(a) Insert a°, b° or ¢® to make this statement true.
Give a reason for your answer.

Angle DCE = .. O because (JOPPLSQOB&( "3 Ol\ak%
O 10\ S e [2]

(b) Use the diagram and the answer to part (a) to show that the angles of a triangle
add up to 180°.
Give a reason for each statement you make. [3]
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(b) XY and CW are parallel lines.
AB = CB.

G7  Angle CAX = 130°. AI\ﬂ(Q %CQJ go
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(i) Complete this sentence.

(i) Work out angle BCW.
Give a reason for each angle you work out.

ACH-5O" lmcouss ax angfas inon isoscds Yol +180°
"“f\urg(e =140°
(D)) cesenncnn pRE— 86 .................. °[4]
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POR i1s a straight line parallel to ST.
QUT 1s an equilateral triangle.

Angle STQ = 105°

Work out the value of x.

Give a reason for each stage of your working.
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(Total for Question 17 is 4 marks)
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ABCD is a parallelogram. 4 Al\a\ﬂ, BAF = :E'So ) Oeqos'tj\‘e Qﬁﬁ‘%

EDC is a straight line.

F is the point on 4D so that BFE is a straight line. i P wc_\l_lekoj FTON\ O @{u‘l

Angle EFD = 35°
o = ° * .
heinien Arofe KED 2357, erbically oppasie
how that angle 4BF =70

Give a reason for each stage of your working.
e : de\OD e a‘m\ .

(Total for Question 25 is 4 marks)

William needs to work out the size of angle y in this diagram. Mides cormed by auilie

D

William writes
Working Reason
angle EGH = 57° | because corresponding angles are equal

>~ 57° o ;
,8)0 i because angles on a straight line add up to 180°

One of William’s reasons is wrong.

(b) Write down the correct reason.

T o a\ereXe ouabb e equal.



22 BEG 1s a triangle.
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ABC and DEF are parallel lines. U = \gop

Work out the size of angle x. A= de Cuﬁka_\ '~ a '\"\GJ‘-

Give a i for each stage of your working. = \w‘
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(Total for Question 22 is 4 marks)
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In the diagram ABC and DEFG are parallel lines. qo x e e
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Angle ABE = x° o qu )
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Show that 4 = 90 + 5% ,_}?:x fw = 1 O
Give a reason for each stage of your working. 3 ("' si’“\
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(Total for Question 9 is 4 marks)




12 4B and BC are perpendicular lines.
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257 »°
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(a) Find the value of x.
)
RS and TU are parallel lines. £
PQ is a straight line.
25°
a
T & U
Q

An angle of size 125° is shown on the diagram.

(b) (1) Write down the letter of one other angle of size 125°
Give a reason for your answer.

- =157 correspordiim mﬂ%meﬂ\m\

(1) Explain why a + b+ ¢ = 235°



